. How is the price of demerit goods determined ?

SRR aqsfl &1 Hoa R e gaR T S
T ?

. What are the objectives of fiscal policy in
developing countries like India ?

gRa S fomraeia <t # s |ifa & Swea wn
€72

. How far are the characteristics of a good tax
system found in Indian tax system ?

Th STl FR YOGl & @8I0 WA F Yomedt § el
TH W ST T ?

. Explain the Nash-Cournot solution of public
goods.

eIt aegell & A9-dAl THEH P AR RIS |
. Explain the equal absolute, equal proportional and
equal marginal sacrifice principle of taxation.

FHAYE & THH FRUET, TEE uIfae 3R THE HE
sfeigH fagra &t =men wifvw|

. Explain the taxation principles of Adam Smith.

TeH oy & HIRme faga i Snen st |
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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given
instructions.

Fder - ' yv-u ‘e’ @R ‘€ el | fawfea ¥ g

TUg & FEIER g9 & S S
Section-A 4%x4=16
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 4 marks.
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QUE—3
(afa oy ST uv)

oo .- 5=l 9 93 & S fSE) 8T ST SW Sl

TAHAR T I, T a9 a1 Afushas 30 =g |
qfidifqa w1 T 999 4 3T @ T

1. Give the answer to the following questions :

frefafed oo & W 9T ¢
(i) What do you mean by Public Goods ?
e aEgell ¥ T F gHe § 2

(i1)) What is the difference between capital and
revenue budget ?

Toft iR o oo H F SRR T ?
(ii1) Define the fiscal policy.
TRt Hifd w1 gRwifoa s
(iv) State the sources of external public debts.
G TSR /01 & Edl ol Seoid iy |
(v) Define the Wagner’s Law.
IR & fram o afafia st

(vi) State the objectives of taxation in public
finance.

Hreeifaes fo # FU9H & ST JaEu|
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(vii) State the sources of public revenue.
st TS & Bl 1 e HIT |
(viii) What is the canon of equity in taxation ?
FIRTU § FHFA T oG =1 T ?
Section-B 4%x16=64
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 16 marks.
gus—d
(g I T9)

feor .- fo=l 9R weHAl & SW SIS 8T o9 I Al

Afreraw 200 3151 § GREIfHG wifS@l g 9
16 3R w1 B

. What is difference between impact, incidence and

shifting of taxation ?

T, HAA T H foed= & o S a1 & 2

. Explain the Peacock-Wiseman hypothesis of public

expenditure.

Sk o9 % Uihih-deTHT Iiieheddl i SATEHl

Eaisi
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